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  
  










 


 
  

















    









 






 

Broad  = 52


























 










 


   

  


F70

    



 


 


 

     
 




   




 















    











 









 




















 






   


  












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





    
 

 
      




 
 


 


 






 








 
 






 






 

 











 











  


G77
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   





 





        





 


       





 


 



 


                 














 








 













   








 

81

 

 



       


 








 










 


            


 









 

 
 

















 











 






















 















 

 








 




Slightly faster  = c. 56










 




 














 




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  

                   


 
  





 

 






 















 















          



















 
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  

    











 

















 









 






 




































































































 














 

 



 

 
 




 




 

ritrit

























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
 

  















   



 











 


 


 





  







 


 

 
 

 
 


  







 


Freely  = c. 60







accel










H
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 

 


 


 

















 



  



 


  











  







   







 







 
  






 






 


Slower  = c. 60

 sub.
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  

 
  




 
 




 








 









 


  








 
  








 




 

 




 













 





 


molto accel
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

 

 



 












 




 







 









 



  




 

 






 

















    






          








 

(  = c. 74)113

 

 








 






















 

 






 

 










 


 



  




 


 









 










 


    





 


 

             




 

accelaccel (  = c. 80)
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




       










 



 






































                 




 

ritrit






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 





 



















 



 




 

 



 








 









 



 

  





  










     


 














 = 60



















I
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 


 


 


 


 































































 














  













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 














  








  




    
 


















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
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  
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

Slower  = 48

deliberate
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
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 = c. 52 accel.
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